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AC‘BS(E Coacﬁ!ng for Mathematics ar cmd Sc'lznce

SECOND TERM (SA-ID) -

MATHEMA’I‘ICS
(With' So!unam‘)
- CLASS X

General Instructions ... .. . -
(;) AH quemons are Cfm:pu!son

: .S‘ec tion C compr:sev of !O quemons of 3 mm,{ Ay each fma' Secrmn
o 4 mar,{s each v

» ':' correct upnou onr Qf the | given fom‘ . : : S S
(:v) There'is rio overall choice. However, mrema! r.ho;ce lms i Hded i i quesnm; ofmo o
“marks, 3 questions of three marks each and 2 questions of f fhs each. You have to arrempr. o
only ane af the alterriatives in all mch questwm ' :
(1) Use of calculators is not penmrred L :

Quem t rrimb rs A m 10 arc f{f one mar _ each..
oL The mots of the équation x% = 3¢ = nilim $3): where m i’ constant are
S TR (b) — m W + ,; )

(_({) g (m. +3

: r 3r-m(m +'3)~'0_ '_ N
[(m+3)—m}x—-m{m+3) O o
(i b BxFmc=mln+3)=0000 L
t{t—(rr:+3)]+m[r— H A 3 :
: x—(n + 3)]{1. i

5 Elther X = a3
Hence, (m + 3) and < a
2. i the common di



trainer
Rectangle


3 f‘gure, O is the centrc of a c:rcle, PQ is:a.chord and PT is the tangent at P If £POQ »*_'_
'70° then ATPQ is cqua! o e .

ol -'-_.'_]n APOQ we h'm:---_ S
e L’POQ +_éOPQ + ZOQP 180"_._'
Ly ’}'00 ¥ ZZOPQ = 1800':-.
v '_-"-"ZOPQ 180° — :
'_'-ZOPQ = Il(}
. \ - AOPQ 55°
S Slnu, OP is IhL radms of a'circle dnd ?P isd ::1:10an at P
: COPLTP o

?0°

e AOPT 90°
A’OPQ + LTPQ = 90°
557 +£TPQ =90° .
SLTPQ =90%:=
ULTPQ =350 -
_. s In f'gure AB and AC are tangents to thc
'-éBOC is uqual to S .

cleivith céntre O such that ZBAC = 40°, Then -

ne scht,nh jommg the pomts of contact at Ihc ccntre

' “-_'-zBAc - 40° (}51\ m)
- .ZBOC 180° =407 = 140° N
Sr1v0 cr (ln cm) of a square c1rcumscrlbln1, a cxrcle of mdlus a cm. 19 o L
sl R (b} 40 o i
pa/ Choice () is correct. © " @ 7. L '




L cd;_,e 42cmis

Since the square circumscribing a circle of radius « e, lhcr:.forc the dmmelt.r of a circle is (.(]U'I] to

the side of a square.
But lht. diameter of a circle = 2 x Radius 0] acircle
-:-("xa)(.m

o =2acm
Side of square = 2a cm- L
Perimeter of a square =4 x sldt, ofn qqmrc
=4 x 2g cm
: =8aems. : T T A
6. Thc mdlur; {in cin) of the Iarg,est nght cnrcular cone that can he Lllt out l' ]

a cube of

(@42 = ) 2
_(c)84 ((1)1.05
Solution. 'Choice () is correct, ' T
The base of the largest right circular cone will be mscnbcd in a f'l(,t.. of the cube and height will be
cqual to the Ldj:(. of Ihc Lub:. i Cr N ey

ddlu‘- of th bd‘iL o] lhc couc (r) 2 - # 2. 1 cut o

_ 7. A tower stands vertically on the’ ground. From a m: on the ground “hlch is25m :m*n' :
from the foot of the tower, the angle of elevation of the t ¢ tower is found to be 45° Then the
height (in meters) of the tower is _ . '

(a). S\F '

(c} 25 : :

" Solution. Chmcc ((.} is conul
In right AABC, we have

8. Ii‘P( 4) "
" then the m!ue ul'.a s
"(a) -

© 4
Solutmn Ch

is the mid-point of the linc-segment joining the points AC- 6, 5) and B~ 2,3), then




i
hd

: T3

IQE"‘-

= - . a=-§
9, IfA and B are the points (- 6, 7} and (— I. - ::) respecmely, then the dlstdnce ZAB is equa!
to .
{a} 13 (h) 26 el
(¢} 169 : : S (edy 238
Solution. Choice (b) is correct. T
Dmdnu. buwccn the points A(— 6, 7y and B(—l - 5} is AB fel

) CAB= J( 1467+ (=57 :
:> e — L
= AB= 169

=i AB=13 i
D:slancc. MMB=2x ]3 26 uqu

10, A card is drawn from a wellshullled deck of 52 playfiig eak 5. The probahility that the
card will not he an ace is - T i

L@

(C_)__ 3

' Soiutlun. Cho:cc (c} is correct, . W
There are 52 cards in a well- Sf'.lllfﬂt.d dcck Of(.‘ /
_Also there are 4 aces, i.e.. two red and (W0 black aces.
' Tl:crcfort.. the card will not be an ace o -
= Total number of cards ace will be red or black ;7
=324 o
w =48 cards

: Lct A denote the event, that the card will not be an ace. -
So, the mimber of outcomes urable to event A arc 48,

D=b-dac=0 _:'
=3 (= TuD)® = 449 =0 -



49 — 196m =0
49mi{m ~ 4) =
Either m=0 or m=4
_ _ m=4 as m=0
' Hcm.e the value of m is 4. _ :
12. Find how many two- dlg:t numbers are divisible by 6
Solution. Two digit number are
FO, 10,12, ..., 99
= Two-digit numbers which are divisible by 6 are
12,18, ..., 96. A
Here,a=12,d = 18 - 12 6, !,, =96 (hr.,[ u_,-m) e e
i a+{n —-l)d =06
124+ (n-1)6=96"
{n-1)6= 96~ 12 SRR
: (".*«-1)6 = 84 T
n=1=84+6
n-1l=14

' _ n=l4+1=15 S S
chcc 15 lwo—drgu numbers are divisible by 6. ' e '
13. In figure, a circle touches all the four sides of a quadri emlABCD whose sndcs are AB = :

o 6om, BC = 9 cmand CD = § cm. Fmd the length ofs e AD.

ARy

! _U U by

Solutmn ‘Vb knov. Ihdl wheu 2 urc!c Iouchcs all lhc four s:des of a quadnhzcrul ABCD Ihcn L
AB+CD BC»&D. AT L .
' 6 + 8

: such that f‘_f.:g’,
AB 5

L Solutmn._:

L ) A R




AP+ PB 342

2‘? ]
: AP 3
= 1+ 28 2142
_ AP 3
PBE 2 -
= St IRt L
: AP 3
' rPE 2

" Steps of Construction :
Steps 1. Draw a line scgment AB =7 cm. S
Steps 2. Draw a ray AY making an acute anﬂlc wuh AB :
Steps 3. Locate 5 pomls Ay As. Ay Ag and Ag on AY so that AAI =4
Join A;B.. |
Step 4. With A5 as centre mark an arc Lutlmg A.;B akX,

Step 5, Through Ay draw a line A;P parallel to AB tm!\m amacuic ahgle equal to AAB at Ay .
intersecting AB at u point P. L
The point P so obtained is the required point. 2 R

AsAy = Ay = Al

15. Fmd the ertmcter of the shaded rcgmn in ﬁgure, if ABCD isa squ.m: of ssdt 14 em imd

APB and CPD are scm: c1rclc.s

Y AL . B
ABCD is a square of side 14 cm therefore, - -
the semi-circle = t1d cm :

-~ Radius of the semi-circle = 7em -~ : SR S SR
Peti of shaded region : S
/) =Length AD + Lcnglh BC + Circumfercrice of semi- cnrclc APB

_ . % o + Circumference of semi-circle DPC




o :5:.

" two cubes Jjoined are :

=ldcem+ldem+ar + ar
: _ 19 37
= |4 em + I4cm+? T+ == %7
: !4Lm+f4cm+22r.m+22:,m '
16 Two cubes each oi‘ volume 27 enr’® are Jomed end to end !o furm a solld Find the sud)
area of the resulting cuboid,
Selution. Let x be the each bdgL and ¥ be the volume 01 acube..

BT S V——— \"
= (}DIVCH) 27 em? =47
‘ : =27 (37 er cm?

Gt s rox=dom. . —
Thc dimcns:ons of thc :.ubmd formcd wh:,n two edgcs of

Length of the cubo:d (h= (3 + 3) Gem .
. Breadth of the cuboid (b) =3 cnt; - -
Hclg,ht of the cuboid (hY=3cm -
Surface area of the cuboid formed s e
=2b + bi: + Mj o
=2[6%3+3 ><3+3x6']:<': %

=[218+ 9+ 18 a cm®
= [2 % 4‘5] cm
=90 crn )

" A cone of height 20 em zirid'mdius"iif base’S ¢mi is made'uf odelling clay. A child reshapes
~itin the form of a sphere. Find the diamet TP T

. Selution. Height of a cone (i) = 20cm:
S " Radivsof acone (N =5cm
* Let R be the radius of a sphere.: .

) ll is given that a child reshapes e in the form ofa spht.n, B
" Volume of & sphire = Voluw:u, . ST

HL[]CL. dmmctcr of lhc sp]u.rc "»‘R .(’? X 5} cm = IB ent. ST L
17. E ulues ufy i‘or wh:ch the dnstance bet“een the pomts A(3 - I) and B(ll y) is IB

. Séfutten.- Here, A(3 - l)dnd B(ll x) be thc ;,m.n pomLs Then ~ 7
D) AB = 10 units (given)




JUI=32 + v+ D? =10
(8 +(y+ 1)* = (10
(v + 1) = (10)° - (8)°
}2+2y+ 1= 100—64_
}(\, + ?) - J(y + 7)
(v + Ty -
y+7=0 or ¥-5
‘.__‘;I or ¥
. Hence, thc values uf» are - 7 or 5. o '
. 18.- A ticket is drawn at random from a bag containing tickets
the prohab:!:ty that the selected ticket has d'number whicl is a'm

QUQU@UUUUU-f

oo
e

1) ertd rom 1 tu 40 Fmd

Solutmn " Total number ofuckcu; in a bag, numbered from 1 to 40 2 . B TP

. Total number of outcomes in which one ticket is drawn afgd

Lct A be the évent that “the selected ticket number whicly

numbered fultiple of 5, ie.. 5.10, 15, 20, 25, 30, 35, 40.
", Number of outcomes favourable to event A = 8

e of 5"} There arc 8 tickets. -

H d probability P(A) = B _L.
ence, rcqmre pro ! lly ( ) 05

Qm:"sn.’on mumbers 19 to 28 carry 3 mark
19 Find the roots of the followmg ’

_ x* -3J_x+10 0
' Solut:on Given a2~ 3J/5x+ 10=0,
Hen,a-l b—w3J§ and ¢ = 10
D=5 ~dac
D= (34572
D= 45-

TTINTERS

Coozxlbo
S BxS5
2




; Hem.e Iht. foots of g:\ en quadrmc u]uanon are 2\/_ and ‘\/—

' Gtvcni S 3J§t‘+ !0 0 '
#ff“x*7£}—£x+m 0.
e x{r—"f) V5 (x-245) = 0'
e -2 -4E) =
S x—QJS_xO Y er _\,_,ngo.'
o= x=2¥ e a5

o Ht,ncc thc rootf; of the gwcn quadrahc cquauon are 2\/_ 'md J“

40.

. Thua the AP, is 3,5, 75
2L In["gure,at':
segments QT and TR infy

. %em respectue!y. the a

Alternative method :

20 Find an A.P. whose' fourth term is 9 and the sum of its swth :

'.'rcspcclwcly'._' -
P ther, . L
fon= 4]
(I)[ ay =9 (given)] -

_ a4—r1+(4—1}(1
= Y9=a+3d . S
lt is’ gn en that the sum of its sixth term .lnd lhmccnth m
gt ety = 40 (gwcn}

= [a+(6 IJ(1]+[a+(I3 D=
= @+ 5d) + (a4 12d) = 40 L
=5, -M+Ud40_.4_¢g,ﬁw$_, L2)
Multtpl}ms_(l) bv  and subtracting from (2), we get .Ul ot

CRa+ 12y - 2(a + 3d) = 9 .
= 17d - 6d =40 - 18 .
:5:j.';_3 -t']._ [d =22 o o o

Rls clrawn to clrcumsenbe a cm:le of radius 6 cm sueh that the -
w_ ich QR is divided hv the pomt of contaet T, are of lengths 1Zem and Co
ea of APQR = 189 cm?, then find the lengths of smles PQ and PR BT




o ;ingle of 60” :

_ Solution,” Let a triangle PQR be drawn to circumseribe a eirele with centre O of radius 6 cm such :
that the sczment Q7 and 7R into wh:t.h QR is (lmdt.d by thc pmnt 02 contact Tdi't. uf !cnglhs l" <.m and .

9 c¢m respectively. - : FRR : S
P
Since the tangents deawn from an cxtc.rndl poml to a Lli’LlL afe cqual in lcnoth i
PV =PU : _ ..(}) [Tangents from I’}___
Qv=0T ...(2} [Tangents from QF -

RT =RU _ ...(3) {Tangents from Rl
itis given that QT = 12 emand TR = 9 ¢m Ll
- - Thercfore from {2) and (3}, we have @
QV=12cmand RU =9 cm
“Let PU = PV = x cin, then
PO=PV+VQ0=(x+12)cm, QR - QT +TR—(17 +9)Lm
= RP=RU+PU=(9+xem . o Y
. ___Now _]Olﬂ 0Q, OR and OP ._H'ld draw pcrpcnd:cuh 5 QU tind OV oy d_PQ respectively. -
AI’LJ 01 APQR An_a of AOPQ * Arc'1 of &OQR + Ar

63~(.\+ 12Y+21 +
63 = 2v + 42
2x=63-42
2r =21
x=105cm

Hencc lht.. itﬂélh of sides PQ and PR are ST L
S x4 12=105+ 12=22.5 and 9+rw9+105 195cmr¢.ap¢_c_twcl).
2&' Draw 2 palr of ta ents ircle of radius 3 cmy, which are mclmcd to_ each other at an-_-.._

f‘nun.) .
F@dtmn of the construction :
o In AOAPwe have N
o % OA = 0P =3 em (= Raqu)




o trmnglc

- Also, | AP-=3cm (= Rudins of circle with-centre A). .. o
AOAP is equilateral
> ZPAO =607
= . LBAP=120°. .
In ABAP, we have S
AB=AP ind ZBAP 120°
_ LABP = LAPB = 30°
Similarly we cun prove that
o LZABQ = ZAQB = 3°
CTsT ZPBQ = 60,

Dra“ a right trlangle m w !ucll the sndes her th lnpotenuse) are of Eength‘: 4 em and 3 Lm

Then mmtruct another trl.mgle whose §des nr —53~ times the curru;pondmg sndes of the glve .

Solution: - féps"nf'Cbmstﬁctidn '
-._-"me % hr[c segment BC = 4 em.

ol ';_: vith :I"as"ucntrc angl. radius draw an arc mscrqccmw thc Emc BX at A. L -
: 4;"-?'J0in'A'C to ‘obtain th uired AABC. L RDER L I

. me ;my my makingan acute anﬂlc w:lh BC on (hc oppoanc s.:dc of lhe _\m .A




8. Draw a line through C' parallel to line CA'to intersect BA at A’ {see {'rrurt.)
Then A'BC” is the required triangle.

the corresponding minor segment of the c1rcle
Solution. We have - 0 .- '

Area of 2 sector QACB of a'c ctrch, of ndms 14 cm' nds an aﬁg.!e of 120° at the centre B S
1’)00 . . ) R
nr?

s 360°, 05 1

“z ‘Saﬂ c"' "—205 33:cm" |

=98 cos 30° cm*

L % :98><§cm2'_ .



" ends are 20 cm and 10 cm respectively.

=493 cm?
=(49 x 1.73) em’® R
: =84.77 cm® S P
Arca of minor segment of the circle o
= Area of sector OACB — Area of AOARB subtends an angle 1‘30" -' S
= (20533 - 84.77) em? _ | <§E§§j¢7
= 120.56 cm? Lo '
_ 24 An open metal bucket is in the shape of a frustum of a cone of hclght 2lradn of
its lowcr and upper ends a5 10 cm and 20 em. respectncly Find. the cost of - @' which can
\ 22]
se ===

‘completely fill the bucket at ¥ 30 per litre. R \

Solutmn. The containet is a fruqlum of a cone of hclght "l cm wul pehii of its upper :md !owcr

2 =21 em, R=20cmand r = 10 cm
Vo!umc of thc opcn metal bucket in the form of a frustum of

= %mﬁ[R* +Rr+ 1)

lx%ﬁxﬂupm‘+Qmﬂoy+u%§§§>.:
2[mm+1my+mmcm - v

SR =22x?00cm7_*_.__ Ca N
= ﬂ litres il R

Ll

o =154 litres : o :
Therefore, the quantity of milk = volume of the opcu ‘metal bucket = 15.4 litres BN
Thus, cost of the mitk @ T 30 per litre S

o =TUsdxay o
Lo T ___.-_;.-_,35462 CIINONGS T '
PR 25 Pomt P(x, 4) lies ofithe line _cgment Jmnmg the pomts A(—- 5 8) and B(4
- ratio in which point P dwﬁ%ﬁme segment AB. Also find the value of x. -
¢t Plx

Solution.’ Lcl the point dw:dce the line segment joining the pomts A(— 5 8) and B(4 - 10)': -

in the ratio K _
<.,H.YP5¢(4A -5 ~mK+8}

——-510) Fmd thez

K+l K+1
: ofP are given as (r. 4)..
—10K+8"_ '

K+1




Consider, 10K +8 =4
K+t

= - 10K+8=4K+4d

= 4K+ 10K=8-4

—_—

s = Prdividesithe line segment AB in rann:;-l-' 1 ie., 2 7

~ Substituting K= = inx= ——=~, we gel
£t P

26. Fmd the area oi‘ quadnlateml ABCD whoge vertices are A(—- D, B(-2,-4),C@,~1) .

and D(3,4). S
Solution. By joining A 10 C, we will g triangles ABC and ACD __
Now, the area of AMBC

1

[¥10% = ¥2) +xalyp o) b gy =yl o

H

[(~3}(—4+])+( -1+ 1} +4(=1+4)]

‘J(—*m 20) 430 AL S

1

o

1o ml%_ml-— tol-—- m;

#

ro!

- Also, the A(_3 N 1) o e B(W"-”‘)




- %IE(*": 3= 5 +4(5) + 3(0)]

o2

B l'[”ls +20+0]

B i
2.

So the area of the quadnla!cral ABCD
L = Aredt of AABC + Area of AACD

BT -
-wz + > St umL\
56'

- :————sq un;ls ) .

=28 sq umts -
Or

_ Find the area of the triungi'c:' formed by joining the mid Goints. Oftht s:des of lh"-‘_._tm_'fahgie
whose vertices are A(2, 1), B(4, 3) and C(2, 5). w o __" . _
Solution. Let A(2, 1), B(4, 3) and C(2, 5) be the vertices of wwiangle ABC respectively. Let D, E

and F be the mid-point of AB, BC and CA, then

Coordinates of D(—-Z—i Lt,:i) Le. D32
- Coordinates t}FE(4: 3+5) ie. E(3 4) _

and coordinates of F(" ki “%QJ ie CB(&.3) - EGLY) (2. 5).
CHere, xy =3, v =2, 03=3 yp=d 3 =2, yy=3 - o

. Area of ADEF = L{x/(y2 — y3) # 52 — 1) ; = }‘2}}- S

bl = |-

. + B the pos:l:on of the !\'.0 curs in tln_ t.'amz, slru:gh! line with the buse 0f a tower, il S
- LebXXDA = 45° and ZXDB = 60°. - S




Distance between the cuars AB = [00 m.

In right triangle DBC, we have

tan 60° = —

C'
DC

- I" right triangle DAC, we have

tan 45°
_ R
. 00+x
00 +x=h
x=h-

= .

=

= 100

Tower .

4 From'(1) and (2) Wekdve T e el T

J_h
J_h 3h—
3}; ENEY! f;~100
!1(3 J' )_uaoo
300"

. ;,_%___ S

3~J§
(100)(3+J“)

u R u

3(}; 10{))" PR

(J_)Z SR




. 010 a point on AB, t

E .my other segmentjoini

LD (12 (L3 (Ldy o (15)  (6)  r o s s e
3L En Gy Gy 34 3 Gy
41 @D @2 AR @ @ 5y (@ 6y i
SEGD 52 5.3 G4 (5.5 5.6y )
o 616D (8,2 (6.3 6.4 (6.5 6.6 T '
* So, the number of possible outcomes = 6 x 6 = 36 L o
. Let A be the event of getting such numbers on the two dice, whose produut lS 12, t!tédmcs
fiivourable to A are ‘
A= {2.66.2.6. 4.6 ) L e@<§§ii§>_
. Favourable number of outcomes =4 S
. Probablhty of getting such numbers on the two dice, whose produc s
36 9.

Or

”sm PmumgL”Wayﬁq;

Quemm; nmnberf 29 034 carn 4 .rnanks each™> . . ; '
29. Prove that the tangent at any point of a cm:le is perpend:cular to the rad:us thmugh the
. point of contact, L L
_ Solution, Given : A Cll’C]L (
" To prove y OP L AB. -

Construction : Take dny% Sther than P on [ht, tangcnt AB. Jomt OQ.g'- A

’ r} 'md a tangcnt ABatu pomt P

Suppose OQ meets the circ R Rt SR
Proof : We know tha€among a ]mc scnmcnta 301nmg thc pomt':-f-f:- S

. prove that OP L AB, itNssufficient to prow: that OP is- qlaom.r Ihan___ L o
O any pomt of AB.. : R
R [Radi of the same urc]c] -

B C!c'lr]y 0

= ::_ - Now, " ERE




30. The first and the last terms oi‘ an'A.P. are 8 and 350 rcspcem ely. If its conmnon dll‘fercnee
is 9, how many ternis are there and what is their sum 7 ey . _
Solution. Let a be the first. terns 'md d the commorn differcnce of an A, P thcn a=8andd=9 "
{given). o S .
Let!=aq, =350 (given) be l]]b nlh term del'l A P lhcn
350=a,=a+(n~ !)d o
350=8+(n- 1_)9
M2 =(n-10
on-1=38 o
e n =139

.................

Uy

soetlarar

v

= sggﬁm[zﬁsl |
sy sw__wxm 6981

How many nm}hp}es 01'4 lig hcmecn 10 and 250 '. y
Solutmn The first term bctwccn 10 and "50 w'ch is
C[Ldrly first term & a'= 12 D INORL
o - Séeond term = a+d*16
and, common difference () = 16— 12 =d.
Last term which is multiple GM is 248.//¢
Now, we have to find the sum of i terffs of
12, 16,20,...,248 -
Sy wa (e el codviny vt n bt vt
_ 248 = 17+(n—l)4 P
L 24B = 12 (= 1 0 G i
e 236 =(n— !)4
=1 m236 S

ZUBUULY

248-_"




-"-"-Solutmn Lct thie 'spu.d Of lhc !r'lm bc, X k:n!hour

_ .pccd (r + 9) kmfhour for ajoumt_y of H{) Lm =

O { is 2wen lh.lt lhc zmm :a[\w ! hour Ius f'or njourncy of !80 km 1f lhc, spu_d ha(I &
: morc from 1t< specd SRR B T -

<X cannot be ﬁcig'zt'livé]": T




165167 - @@y
o

h of ‘mglb 60° in a circle of rzldms. 3.5 ¢m be A then
x Ana of onc su.tor ot' an angle ol' 60° m a urcle of rudms 3 5 cm




. Area of sector =

.1! poud) 50 m”
idif _’ofa cubm(h! 'pond) 44 m




mcci 1e ciiboidal pond is “filled i x houru (hcrefurt, the - _ o
N } Vo!ume of the wa{cr ﬂDWb in thc cuboulat pand m x hours = Volume ofa plpc S

21
50x44><~m'-'-""’z!
400

RN 30.._}( 44x_1
: .'c=-~w~—--- houm
”3! B

ihe tower; .
BT S()h]ll()
R pomtD :

' LL( h

AB be tlu_ hewht ot !lu, towcr lhcn :
CD 10 m, BE CD 10 m 'md AiL‘uA___




295 The' surface are.z ofa sohd hemlsphcrc oi‘ md:us r ¢ (m em® ) |s. o
(a) o-Ua- NS AT (b} ‘hr

ofradlus rcm (m ¢m’ } S
= Surfdcc '1rca ' f'1 hemlqphcrc - Arc.l of:l c:rc!t. at lhc [{)p

card s drawn frum a “cl[-shuﬂ'!ed.dcck of ::2 phmng C-ll’d'\i Fhe probability that the. -
-.card IS nata red k|ng1 IS o oL U




Hence the 34th term of the & given A P is 99 miore th 1'1l¢ 35th term: : -
-0 02180 In figure, a semi-cirele is'drawn with O .m centre and AB as (immclcr. &cml‘crrcles arc;
S dm“n \nth AO and OB s dmnctcrs IEAB .73 “‘* !‘nd the perlmcttr 0[‘ thc bh‘ldca r(,gl(m »

mi”i:'i'r'élé '8"6:'11

=28 cm (given)}

Solutlo'n "Dldmc('cr ot"t b:g 'sc



:.:.".'Arca of a tnannlc OAB subt:_nds an’ .melc 60%

_::- M dmdcq the line sc.g cnt P




Hestion nirmbers: '-’9 m 34 cariv o marks each o SRR L :
S 290 Im i r‘gure an cqullatc |I tmnglc has bcen m‘;crlhcd ina urclc nf ra(llus 6 ¢m. I_“md !hc
B _' dl"i’.‘ﬂ 0!' thc ‘ihddcd regmn : o e L {Usc g 3 141

------

s So'imimi“ Lcr'c)'be‘mczemre of a circle of radius 6 cm and ABC B ateral triangte
fn &OBD we hdv'_ :

Area of equilatéral AABC



. .__"3[} lhe ang,]es of dcpress,mn o!‘ the mp and hnttom of a 12-m tall bu:lding. from the top of a':
mum-smrut.d_hunldmg are. 30°: and 60° reapeutneh, I*lnd Hle hEII,ht of the:

Solutmn,- Lct AD h i be’ the multi- ‘ilorcycd bm}dmg,_';ﬂ
and EC'= 12 m be the tall building. From the top of a multi-" -
storeyed bmldmz the angles of da,prcss:on (}fthn top and bottom .+

cof hmldm‘: “afe 30° and 60 Let BC = DE = ¥ metres, be'the
. distanée between the botton of thc mnlu -:Iun.yt,d bu1ldmg and'
- the bouom of thn bmtdmg L
i AR EAD - BD '
'-._-"AB ='(h !7) mt,tru, bc tlu, dlth,rcncc'ot-




and h (helght of thc cylmdmal l'mk) 4 m (dccp)
Smcc thc lank is ﬁllcd in thours thenfor&., SRR

ylindrical tank

(2 [ H =4r(given)]







N 18 Infi f‘gure, ABCisa trmng!e nght-angled at B, with AB = 14 cm and BC - 24 ¢, Wllh the g
L wrtlces‘ A B 'md C as centres, ::rcs are dra“n, each of radnus 7 cnL Fmd the area ol‘ thc shaded s

i int A3, y} is cqu:dlstant from the pomts P(6 5) and Q(O 3) Find the vatue ol'.y
jon: t 15 gwcn that the point A(3, v) is cqmdmtanl from lhc pomls P{G. 5) and Q{O 3}
APWAQ(;,wcn) B I . RN




3 (ﬁ_ 3)‘+(5—\,)“ =(0- 3)" '+ (*
O 10\+1 w9+9+\"”+6'

- Rudius of a"cifcte' '(r)
"' Arca nf d scctor ofa cu" C




" Question nimbers 29 1o 34 carry 4 marks each. S
T 29, The angle of elevation of the top of a bu:ldmg from tlle i‘oot oi‘a tom.r is 30° and the 'mgle _
L of elevation of the top of the t(mer l‘mm the i‘oot of the bunldmg is 60° It the tov.er 15 50 m h:gh .

e md the height of the bulldmg RN e L ’
oL Solution: Let AB = i ietres bc the height of th{. hm]dmu A NG
o -'and CD =50 m be the hc1gh( of.the tower.. : o b |
o Iis given that the angle ofc]cvanon ofthe Iop ofa bu1]dum'_ S
fr ym the foot ofatowcr is 30° = o
= U Towerf
_ A]so 1t i$ gm.n 1ha( thc angle of" elevatlon of th:. top of the' s |
tower from {he foot of the bu1]d1ng is 60"

.4 hometres -
* i Building’




Solut:on Slde ofa qum‘c

= Arcd of a square - Arca of [hc four cm:!es

=T8demSGI6em® L L .




